
§·¤æ§ü / Unit-I

1. çÙ`ÙçÜç¹Ì ·¤æ ¥Íü â×Ûææ§° Ñ

(a) ·¤æ×-Õ‹Î Üæ»Ì

(b) ÂýçÌSÍæÂÙ Üæ»Ì

FD-113
M.Com. 3rd Semester

Examination, Dec.-Jan., 2021-22

Paper - III

Advance Cost Accounting

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´UÐ

Note : Answer all questions. All questions carry equal
marks.
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(c) ÇêUÕè Üæ»Ì

(d) ¥ßâÚU Üæ»Ì

(e) ¥æÚUôçÂÌ Üæ»Ì

(f ) M¤Âæ‹ÌÚU‡æèØ Üæ»Ì

(g) ¥Ùéâ¢ÏæÙ °ß¢ çß·¤æâ Üæ»Ì

(h) ¥çÙØ‹˜æ‡æèØ Üæ»Ì

Explain the meaning of the following :

(a) Shut-down Cost

(b) Replacement Cost

(c) Sunk Cost

(d) Opportunity Cost

(e) Imputed Cost

(f) Conversion Cost

(g) Research and Development Cost

(h) Uncontrollable Cost

¥Íßæ / OR

çÙ`Ù âê¿Ùæ¥ô´ âð ×æ¿ü, w®w® ·ð¤ çÜ° çÜÈ¤ô
(ÕæÎ ×ð´ ¥æÙæ - ÂãUÜð ÁæÙæ) çßçÏ mæÚUæ SÅUôâü
¹æÌæ ÕÙæ§° Ñ

( 2 )
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( 3 )

ÂýæçŒÌØæ¡ çÙ»ü×Ù

v ×æ¿ü, x®® §·¤æ§ü ÎÚU G w ÂýçÌ §·¤æ§ü x ×æ¿ü, vwz §·¤æ§ü

vy ×æ¿ü, wz® §·¤æ§ü ÎÚU G x ÂýçÌ §·¤æ§ü v{ ×æ¿ü, v|z §·¤æ§ü

w® ×æ¿ü, z{® §·¤æ§ü ÎÚU G w.z® ÂýçÌ §·¤æ§ü ww ×æ¿ü, ~® §·¤æ§ü

×æ¿ü, wy ·¤ô v® §·¤æ§ü Áô ×æ¿ü, v{ ·¤ô çÙ»üç×Ì
·¤è »Øè Íè, çßÖæ» mæÚUæ SÅUôÚU ·¤ô ßæÂâ ·¤ÚU Îè
»Øè °ß¢ xv ×æ¿ü ·¤ô vy §·¤æ§Øô´ ·¤æ ¥‹ÌÚU
SÅUæò·¤ çÙÚUèÿæ‡æ ·ð¤ ÎõÚUæÙ ÂæØæ »ØæÐ

Prepare Store Ledgers from the following
information as per LIFO (Last In First Out)
method for March, 2020 :

Receipt Issues

1st March, 300 Units @ G 2 per unit 3rd March, 125 units

14th March, 250 Units @ G 3 per unit 16th March, 175 units

20th March, 560 Units @ G 2.50 per unit 22nd March, 90 units

On 24th March, 10 units issued on March, 16
were returned by the department to the store
and on 31st March a difference of 14 units
was found as per stock verification.

§·¤æ§ü / Unit-II

2. ×ÁÎêÚUè Öé»ÌæÙ ·¤è ÂhçÌØô´-·¤æØæüÙéâæÚU, â×ØæÙéâæÚU,
ÂýôˆâæãUÙ ØôÁÙæ¥ô´ ·ð¤ çßáØ ×ð´ çÜç¹°Ð
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( 4 )

Write about the methods of wage payment-
time and piece rate, incentive schemes.

¥Íßæ / OR

¥ô× âæ§ü °‡ÇU ·¤`ÂÙè çÜ0 ·ð¤ ÌèÙ çß·ýð¤Ìæ âãUÁ,
âÚUâ °ß¢ âÚUÜ ãñ´UÐ çÙ`ÙçÜç¹Ì âê¿Ùæ ¥»SÌ,
w®w® ·ð¤ çÜ° ÂýæŒÌ ·¤è »§ü ãñU Ñ

·é¤Ü âãUÁ âÚUâ âÚUÜ

çß·ýð¤Ìæ ·¤æ ßðÌÙ G w,®®® G z®® G |®® G }®®

·¤×èàæÙ çß·ý¤Ø ÂÚU w' w' w'

Øæ˜ææ ÃØØ G {®® G w®® G v®® G x®®

ÇUæ·¤ °ß¢ SÅðUàæÙÚUè G ~® G x® G x® G x®

ÅðUÜèÈ¤ôÙ °ß¢ ÅðUÜè»ýæ× G v®® G z® G w® G x®

çÕ·ý¤è G w®,®®® G },®®® G y,®®® G },®®®

(i) çÕ·ý¤è ·¤æØæüÜØ ÃØØ (çÕ·ý¤è ¥ÙéÂæÌ
×ð´) G v,®®®

(ii) çÕ·ý¤è ·¤è Üæ»Ì-çß·ý¤Ø ·¤æ {®'

©UÂØéü@Ì âð çÕ·ý¤è â`ÂæÎÙ çßßÚU‡æ-Â˜æ ÌñØæÚU
·¤èçÁ°Ð

Om Sai and Co. Ltd. has three salesman
Sahaj, Saras and Saral. The following
information is obtained for the month of
August, 2020 :
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Total Sahaj Saras Saral

Salary of Salesman G 2,000 G 500 G 700 G 800

Commission on Sale 2% 2% 2%

Travelling Expenses G 600 G 200 G 100 G 300

Postage and Stationary G 90 G 30 G 30 G 30

Telephone and
Telegrams G 100 G 50 G 20 G 30

Sales G 20,000 G 8,000 G 4,000 G 8,000

(i) Sales office expenses (in ratio of sale)
G 1,000.

(ii) Cost of Sales — 60% of Sales

From the above, prepare the Sales
Performance statement.

§·¤æ§ü / Unit-III

3. ©UÂ·¤æØü Üæ»Ì çßçÏ @Øæ ãñU? §â·ð¤ ©UgðàØô´, ÜæÖô´
°ß¢ âè×æ¥ô´ ·¤è çßßð¿Ùæ ·¤èçÁ°Ð

What is Job Costing ? Discuss its objectives,
advantages and limitations.

¥Íßæ / OR

°·¤ ØæÌæØæÌ âðßæ ·¤`ÂÙè Îô Ù»ÚUô´ ·ð¤ Õè¿ Áô
°·¤ ÎêâÚðU âð z® ç·¤0×è0 ·¤è ÎêÚUè ÂÚU ãñ´U y Õâð´

( 5 )
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¿Üæ ÚUãUè ãñ´UÐ ÂýˆØð·¤ Õâ ×ð´ ÕñÆUÙð ·¤è ÿæ×Ìæ y®
Øæ˜æè ãñUÐ ¥ÂýñÜ, w®w® ·¤æ çÙ`Ù çßßÚU‡æ ©UÙ·¤è
ÂéSÌ·¤ô´ âð çÜØæ »Øæ ãñU Ñ

G

ÇþUæ§ßÚUô´ °ß¢ @ÜèÙÚUô´ ·¤è ×ÁÎêÚUè vy,®®®

·¤‡ÇU@ÅUÚUô´ ·¤è ×ÁÎêÚUè v®,®®®

·¤æØæüÜØ ·¤×ü¿æçÚUØô´ ·¤æ ßðÌÙ vw,®®®

ÇUèÁÜ ¥æòØÜ °ß¢ ¥‹Ø ¥æòØÜ x},®®®

×ÚU`×Ì °ß¢ ¥ÙéÚUÿæ‡æ ~,®®®

·¤ÚU °ß¢ Õè×æ vz,®®®

NUæâ w{,®®®

ÚUôÇU Üæ§âð´â àæéË·¤ ÂýçÌßáü z,®®®

µØæÁ °ß¢ ¥‹Ø ÃØØ vz,®®®

Øæ˜æè Áô ßæSÌß ×ð´ Üð Áæ° »°, ÕñÆUÙð ·¤è ÿæ×Ìæ
·ð¤ |z' ÍðÐ âÖè ¿æÚUô´ Õâð´ ×æâ ·ð¤ â×SÌ çÎÙ
×ð´ ¿ÜÌè ãñ´UÐ ÂýˆØð·¤ Õâ Ùð ÂýçÌçÎÙ °·¤ ÂêÚUè ¹ðÂ
·¤èÐ ÂýçÌ Øæ˜æè ç·¤0×è0 ÂçÚUÃØØ ™ææÌ ·¤èçÁ°Ð

A Transport Service Company is running 4
buses between two towns which are 50 Km.
apart. Seating capacity of each bus is 40
passengers. The following particulars were
obtained from their books for April, 2020 :

( 6 )
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G

Wages of Drivers and Cleaners 14,000

Wages of Conductors 10,000

Salaries of Office Staff 12,000

Diesel oil and other oils 38,000

Repair and Maintenance 9,000

Taxation and Insurance 15,000

Depreciation 26,000

Road Licence fee per year 5,000

Interest and other charges 15,000

Actual passengers lorried were 75% of the
seating capacity. All the four buses run all
days of the month. Each bus made one round
trip per day. Find out the cost per passenger
km.

§·¤æ§ü / Unit-IV

4. (a) ¥Ùé×æÙ Üæ»Ì-Â˜æ·¤ @Øæ ãñU? §Ù Â˜æ·¤ô´ ·¤è
ÂýÕ‹Ï ·¤æð ©UÂØôç»Ìæ ÕÌæ§°Ð

What are Estimate Cost Cards ? Mention
the utility of the cards to the
management.

( 7 )
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(b) x ©UˆÂæÎ ·¤æ ¥Ùé×æçÙÌ Üæ»Ì Â˜æ·¤ çÙ`Ù

ÂýçÌ §·¤æ§ü ¥Ùé×æÙ ÂýÎæÙ ·¤ÚUÌæ ãñU Ñ

G

ÂýˆØÿæ âæ×»ýè °ß¢ ÂêçÌü {

ÂýˆØÿæ Ÿæ× y

çÙ×æü‡æ ©UÂçÚUÃØØ z

Øô» vz

x ©UˆÂæÎ ·¤è w®® §·¤æ§Øô´ ·¤æ ©UˆÂæÎÙ çÙ`Ù

ßæSÌçß·¤ Üæ»Ì ÂÚU ç·¤Øæ »Øæ Ñ

G

ÂýˆØÿæ âæ×»ýè °ß¢ ÂêçÌü v,wz®

ÂýˆØÿæ Ÿæ× |z®

çÙ×æü‡æ ©UÂçÚUÃØØ v,v®®

Øô» x,v®®

¥ßçÏ ·ð¤ ¥‹Ì ×ð´ ·¤ô§ü Öè ¿æÜê ·¤æØü °ß¢

¥ç‹Ì× ©UˆÂæÎ ·¤æ SÅUæò·¤ ÙãUè´ Íæ ¥õÚU â×SÌ

©UˆÂæÎ G w® ÂýçÌ §·¤æ§ü ·¤è ÎÚU âð Õð¿æ »ØæÐ

©UÂØéü@Ì ·¤æ Üð¹æ ·¤ÚUÙð ·ð¤ çÜ° ÁÙüÜ ·¤è

ÂýçßçcÅUØæ¡ °ß¢ ¹æÌð ÕÙæ§°Ð

( 8 )
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The estimate cost card for x products
gave the following estimates per unit :

G

Direct materials and supplies 6

Direct labour 4

Manufacturing overheads 5

Total 15

200 units of x products were
manufactured at the following actual
cost :

G

Direct material and supplies 1,250

Direct labour 750

Manufacturing overheads 1,100

Total 3,100

There was no work-in progress inventory
and finished goods inventory at the end
of the period and all the units were sold
at G 20 per unit. Give Journal entries and
prepare Ledger Accounts to record above.

¥Íßæ / OR

( 9 )
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°·¤ ÌðÜ àæôÏ·¤ ·¤æÚU¹æÙð ×ð´ ©UˆÂæÎ ÌèÙ çÖ‹Ù
Âýç·ý¤Øæ¥ô´ ×ð´ ¥»ýâÚU ãUôÌæ ãñUÐ çÙ`ÙçÜç¹Ì âê¿Ùæ
ÁÙßÚUè, w®w® ×æãU ·¤è ©UÂÜµÏ ãñU Ñ

ÂèÇUÙ àæôÏÙ â×æÂÙ
(G) (G) (G)

·¤“æè âæ×»ýè
(z®® ÅUÙ ¹ôÂÚUæ) w,wz,®®® - -

ÂæçÚUŸæç×·¤ },®®® z,~®® z,}|z

àæç@Ì v,w®® v,®®® v,z®®

çßçßÏ âæ×»ýè z®® v,~®® -

·¤æÚU¹æÙæ ÃØØ {®® v,®®® ~z®

â×æçÂÌ ÌðÜ â¢»ýãU ãðUÌé ÉUôÜô´ ·¤è Üæ»Ì G wv,®wz
ÍèÐ w®® ÅUÙ ¹Üè ·ð¤ ·ð¤·¤ G vz,®®® ·¤è Õð¿è
»Øè ÌÍæ w|z ÅUÙ ·¤“ææ ÌðÜ ÂýæŒÌ ç·¤Øæ »ØæÐ
ÂèÇUÙ Âýç·ý¤Øæ ·ð¤ çßçßÏ ©UÂôˆÂæÎô´ âð G ~®® ç×ÜæÐ
ÌðÜ ·ð¤ àæôÏÙ ·ð¤ Âà¿æÌ ©UÂôˆÂæÎ G ~®® ·ð¤ (w®
ÅUÙ) Õð¿ð »° ÌÍæ wz® ÅUÙ â¢àæôçÏÌ ÌðÜ ÂýæŒÌ
ç·¤Øæ »ØæÐ wy® ÅUÙ â×æçÂÌ ÌðÜ ÉUôÜô´ ×ð´ ÖÚU
çÎØæ »Øæ ÌÍæ v® ÅUÙ G v,w®® ·¤æ Õð¿æ »ØæÐ

§â ¥ßçÏ ·ð¤ ·¤æØæüÜØ ÃØØ G x,z®® ãéU° Áô ç·¤
ÌèÙ Âýç·ý¤Øæ¥ô´ ·¤ô xÑwÑw ·ð¤ ¥ÙéÂæÌ ×ð´ ¿æÁü
ç·¤° ÁæÙð ãñ´UÐ Âýç·ý¤Øæ ¹æÌð ÌñØæÚU ·¤èçÁ°Ð

( 10 )
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In an oil refinery the product passes through
three different processes. The following
information is available for the month of
January, 2020 :

Crushing Refining Finishing
(G) (G) (G)

Raw materials
(500 ton of copra) 2,25,000 – –

Wages 8,000 5,900 5,875

Powers 1,200 1,000 1,500

Sundry Materials 500 1,900 –

Factory Expenses 600 1,000 950

Cost of drums for storing finished oil was
G 21,025. 200 ton of cake were sold for

G 15,000 and 275 ton of crude oil were
obtained. Sundry by-product of the crushing
processes fetched G 900. By product after

refining the oil was sold for G 900 (20 ton)
and 250 ton of refined oil were obtained. 240
ton of finished oil were stored in drums and
10 ton were sold for G 1,200.

( 11 )
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The establishment expenses for the period
amounted of G 3,500 which are to be charged
to the three processes in proportion of 3:2:2.
Prepare the Process Accounts.

§·¤æ§ü / Unit-V

5. àæê‹Ø ¥æÏæçÚUÌ ÕÁÅUÙ âð @Øæ ¥çÖÂýæØ ãñU? §â·ð¤
ÜæÖ °ß¢ âè×æ¥ô´ ·¤è çßßð¿Ùæ ·¤èçÁ° àæê‹Ø
¥æÏæçÚUÌ ÕÁÅUÙ ¥õÚU ÂÚU`ÂÚUæ»Ì ÕÁÅUÙ ×ð´ ¥‹ÌÚU
·¤èçÁ°Ð

What is meant by Zero-based Budgeting ?
Discuss its advantages and limitations.
Differentiate between Zero-based Budgeting
and Traditional Budgeting.

¥Íßæ / OR

z®' ÿæ×Ìæ ÂÚU çÙ`ÙçÜç¹Ì âê¿Ùæ Îè ãéU§ü ãñUÐ °·¤
Üô¿ÎæÚU ÕÁÅU ÕÙæ§° ÌÍæ {®', |®' °ß¢ ~®'
ÿæ×Ìæ ÂÚU ÜæÖ-ãUæçÙ ·¤æ ÂéßæüÙé×æÙ ·¤èçÁ° Ñ

z®' ÿæ×Ìæ ÂÚU ÃØØ
(G)

SÍæØè ÃØØ Ñ

ßðÌÙ v,z®,®®®

ç·¤ÚUæØæ °ß¢ ·¤ÚU v,w®,®®®

¥ßÿæØ‡æ ÃØØ v,}®,®®®

ÂýàææâçÙ·¤ ÃØØ w,v®,®®®

( 12 )
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z®' ÿæ×Ìæ ÂÚU ÃØØ
(G)

ÂçÚUßÌüÙàæèÜ ÃØØ Ñ
âæ×»ýè {,®®,®®®
Ÿæ× |,z®,®®®
¥‹Ø v,w®,®®®
¥hü-ÂçÚUßÌüÙàæèÜ ÃØØ Ñ
×ÚU`×Ì x,®®,®®®
¥ÂýˆØÿæ Ÿæ× y,z®,®®®
¥‹Ø w,|®,®®®

ØãU ¥Ùé×æÙ Ü»æØæ »Øæ ãñU ç·¤ âÖè ÿæ×Ìæ¥ô´ ÂÚU
çSÍÚU ÃØØ ØÍæßÌ÷ ÚUãð´U»ðÐ ¥hü-ÂçÚUßÌüÙàæèÜ ÃØØ
yz' °ß¢ {®' ·ð¤ Õè¿ ÂçÚUßçÌüÌ ÙãUè´ ãUô´»ð, {®'
°ß¢ |z' ·ð¤ Õè¿ §Ù×ð´ v®' ·¤è ßëçh ãUô»è,
§â·ð¤ ¥çÌçÚU@Ì z' ·¤è ßëçh ãUô»è ÁÕ ÿæ×Ìæ
|z' ·¤ô ÂæÚU ·¤ÚU ÜðÐ

ÿæ×Ìæ ·ð¤ çßçÖ‹Ù SÌÚUô´ ÂÚU ¥Ùé×æçÙÌ çÕ·ý¤è §â
Âý·¤æÚU ãñ´U Ñ

ÿæ×Ìæ çß·ý¤Ø
(G)

{®' xx,®®,®®®

|®' x~,®®,®®®

~®' yz,®®,®®®

( 13 )
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The following information at 50% capacity is
given. Prepare a flexible budget and forecast the
profit or loss at 60%, 70% and 90% capacity :

Expenses at
50% capacity

(G)

Fixed Expenses :

Salaries 1,50,000

Rent and Taxes 1,20,000

Depreciation Expenses 1,80,000

Administrative Expenses 2,10,000

Variable Expenses :

Materials 6,00,000

Labours 7,50,000

Others 1,20,000

Semi-variable Expenses :

Repairs 3,00,000

Indirect Labour 4,50,000

Others 2,70,000

It is estimated that fixed expenses will remain
constant at all capacities. Semi-variable
expenses will not change between 45% and
60% capacity, will rise by 10% between 60%
and 75% capacity, a further increase of 5%
when capacity crosses 75%.

( 14 )
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Estimated Sales at various levels of Capacity
are :

Capacity Sales
(G)

60% 33,00,000

70% 39,00,000

90% 45,00,000

———

( 15 )
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